H & 0l & AHS B Ml A

SEXNESAY #4535t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYJI=HE sYXNTL 44,939,713 41,659,021 3,280,692
= 1,556,720
Jl 23,932,876
= 1,952,086
Ea 17,498,031
s8Nz 2l 44,916,243 41,635,551 3,280,692
= 1,566,720
) 23,932,876
= 1,952,086
= 17,474,561
SEXNEZAMY 2dst 193,240 189,740 3,500
sEXNE 2485t 163,240 189,740 3,500
101 @124H| 25,800 25,500 300
U IIRINZZENSES 25,800 25,500 300
OUNE 538 2% 21y
86,0003 *1&+300& 25,800
201 et 3| 23,840 19,840 4,000
01 AtR2tc|bI 18,840 16,840 2,000
Oget=ZH] 3,000,000& 3,000
O8YAEE WSUM HEFL
10,000,000& 10,000
OfIHa 28+ 2,000,000& 2,000
@=] 8,000 x4 120! 3,840
02 s3=gHl 3,000 3,000 0
O=sgolns il &¢& =2
1,000,000 1,000
OAlE Hl & 22X R 2el
2,000,000& 2,000
03 A= I 2,000 0 2,000
OS=E8 =82l ¢l A 29
2,000,000 2,000
202 04| 6,600 8,400 21,800
01 =LHO LI 6.600 8,400 21,800
OsEXNE gRE=T(2LH)
150,000 x3S =120 2 5,400
OsEXE gRFT(22)
100,000&* 12043 1,200
203 =4l 3,000 3,000
03 A= PR FZ| 3,000 3,000
OsgXE ARz 3,000,000& 3,000
206 MH=H| 3,000 3,000
01 MHZH| 3,000 3,000
O=gMalt A Mg 7L
3,000,000& 3,000
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2A: sYIIsdE s
M sgNT 2l
ol sPAN=FE 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 5,000
201 er23y| 10,000 7,350 2,650
= 5,000
s 5,000
01 AtR2tc|Hl 10,000 7,350 2,650
sz d2us X
10,000,000 10,000
= 5,000
s 5,000
IsRL=E tEXel A& 105,000 0 105,000
= 42,000
Ea 63,000
101 @12A4H| 69,000 0 69,000
= 27,600
s 41,400
04 JIZtN2Z2 XS 2+ 69,000 0 69,000
OUsRAE T4 AL o9
2,300,000 ~6H ~5& 69,000
= 27,600
= 41,400
201 Ler23| 36,000 0 36,000
= 14,400
Ea 21,600
01 AtR2t2|HI 36,000 0 36,000
OgsFit= ordxel Xd
36,000,000& 36,000
2 14,400
s 21,600
Mol sgol Agu= 11,200 15,000 23,800
= 3,360
= 7,840
201 er23 | 11,200 7,000 4,200
= 3,360
[Ea 7,840
01 AtR2telHl 11,200 7,000 4,200
OMolisel 4Eus Wi M
11,200,000 11,200
=S 3,360
s 7,840
A0tELA s Edst AlY 6,000 0 6,000
& 1,800
= 4,200
307 lztol & 6,000 0 6,000
= 1,800




2A: sYIIsdE s
M sgNT 2l
ol sPAN=FE 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 4,200
02 QA AAEE X 6,000 0 6,000
OYLSTSDUH HH3 Al
6,000,000& 6,000
== 1,800
[Ea 4,200
FIsHISNNE KA 17,500 17,500 0
= 7,500
= 10,000
307 elzto| & 17,500 17,500 0
= 7,500
Ea 10,000
02 2B YAIHE A 17,500 17,500 0
Ozl1=83SANE wsHl XA
2,500,000 * 102 *7(f% 17,500
== 7,500
o 10,000
AlS AT R 32,378,764 28,568,257 3,820,507
= 173,569
Il 23,844,200
= 791,190
[Ea 7,569,805
AlgRE ot Mt 3,236,525 3,086,325 150,200
201 eer23| 14,725 14,725 0
01 AtR2t2|HI 13,165 13,165 0
Odgt+=H| 8,285,000& 8,285
OsggeEs)| 28 238 78
2,000,000& 2,000
O=gt| 8,000 *x3&» 120 2,880
2 s5=34l 1,560 1,560 0
O38&R= 1,560
—sEUHE2Y PRAE JJIes
100,000 «12& 1,200
—sEE2d PRAL HdoteEls
30,0002 12 360
202 04l 6,600 8,400 21,800
01 =LHAHI 6,600 8,400 1,800
OAZEZ OHHMA HSER (BLY)
150,000 x3&* 122 5,400
OAEAS MM HRFT(242])
100,000 »12& 1,200
206 MH=H| 1,500,000 1,530,000 /30,000
01 MHZHI 1,500,000 1,530,000 30,000
OH =&} MUK s 2
10,000,000 10,000




AN sYIIsdH =SS
B =oTC 22
e AEYAXIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ol SEE o4& 13 790,000,000 790,000
Ol SR&AXA dHset X
700,000,000& 700,000
301 EetE2 NS 864,200 909,200 /45,000
11 #AIAHIXIE S 4,200 4,200 0
OMMAZSNY 27 BII5 BMD
10,000& »75H 750
OBoITE| 39 HABA
10,0003 #75& 750
O=4td T lsns A28
10,0002 60 & *22 1,200
OAMYRS KBNS H23 &4 B4
10,000& »75%H 750
OXNGSatas btd s ol s A
g 750,000 750
14 DBt 2 a3 860,000 905,000 /45,000
O==ciet st B3 AIg
600,000,000 600,000
O%cle A MMI= K2
260,000,000 260,000
303 Za= 10,000 10,000
01 Za= 10,000 10,000
O=EIRE ANYEX 480 AL
10,000,000 10,000
307 @120l & 280,000 264,000 16,000
02 QI BHANEEX 280,000 264,000 16,000
Os&= Holls NI ssSH N
120,000& *1,500ha 180,000
Ol tiHI2 =
8,000,000 *1JH 2~ 8,000
ORcle s g3
4,000,000& *50% 2,000
Ogd 334 I8 XE 90,000,000 90,000
402 2I2E X201 & 540,000 350,000 190,000
01 QI X2 AL E R (KHMITHE) 540,000 350,000 190,000
O&EHIPDI 28 s&=E Hoid LIl A=
40,000,000 *5IH 2= +50f% 100,000
OH 2% 453 XA
18,000, 0002 * 107H 2 %50% 90,000
OE38& MSHA s &
20,000,000 *1IH 2=x50f% 10,000
OH =R2& Al s N2
20,000, 000& *47H 2= +50% 40,000
Oodl szt S2& =4
600,000, 0002 *17H 2= +50% 300,000
405 AtatE=H 21,000 21,000
01 TR =SFISHI 21,000 21,000




2A: sYIIsdE s
M sgNE 2l
el AEYAXRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJla2=34l wH
21,000,000 * 100 2 21,000
&4 MYs | 14,400 10,800 3,600
S 2,880
o 11,520
201 et 3| 14,400 10,800 3,600
== 2,880
o 11,520
01 Al222lH| 14,400 10,800 3,600
O Fols FEMe =2 X
14,400,000 14,400
= 2,880
= 11,520
USE A MM &Y 308,000 268,800 39,200
= 56,000
o 252,000
402 2I2F X201 & 308,000 268,800 39,200
== 56,000
o 252,000
01 IR SASE X (XHMITHR) 112,000 100,800 11,200
ODER 4 MACT Za&(2H))
112,000,000 112,000
02 QI X2 AL EE(0IHTHE 196,000 168,000 28,000
ONSE & MK 2H(&HI)
196,000,000 196,000
= 56,000
o 140,000
Agde O=sd 20 X3 112,500 60,000 52,500
< 22,500
[Ea 90,000
402 BIZtAH=01A 112,500 60,000 52,500
S 22,500
= 90,000
02 QI X2 AL EE(0IHTHE) 112,500 60,000 52,500
Oagda UsH 0 Ad
225,000, 0002 *17H 2 #50% 112,500
= 22,500
[Ea 90,000
SOtM ALEEHl XIE 25,550 45,000 19,450
== 5,110
[Ea 20,440
206 M=l 25,550 45,000 219,450
< 5,110
s 20,440




A sII=dH s
B =oTC 22
e AEYAXIE EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
MH=Hl 25,550 45,000 19,450
Os%td A3l NI&
70,0003 *365H 25,550
= 5,110
Ea 20,440
H Holils SsYH N3 1,051,200 1,005,000 46,200
== 42,240
o 1,008,960
307 212+01& 1,061,200 1,005,000 46,200
< 42,240
= 1,008,960
02 LB HAHE L 1,051,200 1,005,000 46,200
Ol 83lE 2018)| BESHY HHR X
2A(<H) 1.051,200
—H WElE RoE)| ZEERY HE
K& (&) 120,000 %1, 760ha 211,200
s 42,240
s 168,960
—H golilEs )| Bs=s8Y s
K& (2H1) 120,000& *7,000ha 840,000
fol2 =4 X AL 84,000 65,520 18,480
= 16,800
Ea 67,200
307 gl2to| & 84,000 65,520 18,480
=S 16,800
s 67,200
02 QB AANEER 84,000 65,520 18,480
Ol dak XA
120,000, 000& *70% 84,000
< 16,800
= 67,200
B FgetEi= X 2,520,265 2,520,265 0
= 504,053
Ea 2,016,212
301 EtE NS 2,520,265 2,520,265 0
= 504,053
o 2,016,212
14 0Bt 2a3 2,520,265 2,520,265 0
OH Miisot 2EE s K&
2,520,265,000& 2,520,265
[ 504,053
T 2,016,212
= Et&E THEHXI& 376,400 299,400 77,000
= 35,280




2A: sYIIsdE s
M sgNE 2l
el AEYAXRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 341,120
301 EtE NS 376,400 299,400 77,000
=S 35,280
s 341,120
14 0Bt 2as 376,400 299,400 77,000
O= Et&= MEiX2 376,400
—= EtEE2 THHXI2(=HI)
176,400,000 176,400
= 35,280
= 141,120
—= B2 THHHXIR (20])
200,000,000& 200,000
28 SAMSAY 21,377,000 19,224,000 2,153,000
Jl 21,377,000
301 EtE NS 21,377,000 19,224,000 2,153,000
) 21,377,000
14 IIEt2 8= 21,377,000 19,224,000 2,153,000
OJI28 SAN=SAY
21,377,000,000& 21,377,000
Jl 21,377,000
HENE HNEAY 2,371,000 507,000 1,864,000
Il 2,371,000
301 Eet2 NS 2,371,000 507,000 1,864,000
Il 2,371,000
14 IIEt2 83 2,371,000 507,000 1,864,000
OHHAZE HNSAIY 2,371,000,000& 2,371,000
) 2,371,000
SAXNEH HZBH XA 96,200 94,187 2,013
Jl 96,200
101 ©1AH| 20,320 20,000 320
Jl 20,320
MU IIRINZZE2NSES 20,320 20,000 320
OBURZAIY HLBE 2R
20,320,000 20,320
Il 20,320
201 er2 3| 73,380 57,463 15,917
) 73,380
01 At2t2lt] 73,380 57,463 15,917
OS2 =HM 29| 73,380
—SAN=H 2= X
5,000,000& 5,000
) 5,000
—SAN=N 2GS 68,380,000 68,380
Jl 68,380




2A: sYIIsdE s
M sgNE 2l
el AEYAXRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,500 16,724 N14,224
Jl 2,500
01 =LHOHI 2,500 16,724 N14,224
OS2 =2 2,500,000& 2,500
7l 2,500
sEoE=2d 29 255,000 259,000 24,000
307 @I2to| & 255,000 255,000 0
05 glt?(& = 255,000 255,000 0
Os&olzies 2o
255,000,000 %191 2 255,000
sENSASRE 325,000 300,000 25,000
= 130,000
== 58,500
o 136,500
307 212+01& 325,000 300,000 25,000
= 130,000
= 58,500
o 136,500
02 QB HANEEX 325,000 300,000 25,000
Os& 180" KA
325,000,000 325,000
= 130,000
= 58,500
o 136,500
MENESS(EH)I SN n=ALE N 27,000 54,000 A27,000
= 15,000
= 3,600
Ea 8,400
307 @120l & 27,000 54,000 227,000
= 15,000
= 3,600
= 8,400
02 2IZHBYAIHE A 27,000 54,000 A27,000
OMANSTEAAN DRALE N
30,000,000 *17H 2=*90f% 27,000
= 15,000
= 3,600
= 8,400
Nt B =22l JIeEs AlgAY 10,384 0 10,384
= 7,269
= 3,115
201 fer= 3| 10,384 0 10,384
= 7,269
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2A: sYIIsdE s
M sgNE 2l
el AEYAXRA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 14,000
=S 3,360
s 7,840
SHHs)|sEs 184,800 1,004,820 /820,020
= 46,080
= 13,200
o 125,520
s2 ADlE AMg(ESI=) 30,000 400,000 A370,000
= 15,000
o 15,000
402 2I2E X201 & 30,000 400,000 A370,000
= 15,000
= 15,000
02 QI X2 AL EE(OIHTHE) 30,000 400,000 /370,000
Ocs8 22 E22480| THHHEX e At
& 30,000,000 * 100 2 30,000
= 15,000
Ea 15,000
s&=E goliE 2l N& 49,200 138,420 A\89,220
= 24,600
o 24,600
206 M=l 49,200 138,420 N89,220
= 24,600
T 24,600
01 MHZHI 49,200 138,420 /89,220
OH 2ol bl X2
9,200,000& 9,200
= 4,600
[Ea 4,600
Ot statd 2RIl K&
20,000,000& 20,000
= 10,000
[Ea 10,000
Olts= SZoliE Hdl X2
20,000,000& 20,000
= 10,000
[Ea 10,000
sH=E gollE dHd 28 N3 18,000 18,000 0
= 5,400
s 12,600
101 ©1AH| 10,000 8,000 2,000
= 3,000
Ea 7,000
M ORNZZ2NSE S 10,000 8,000 2,000
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2A: sYIIsdE s
M sgNE 2l
gelr wstgslisEs EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 2,800
01 AtR2t2|HI 4,000 6,000 22,000
Odgalis dcta 2gid 4,000,000 4,000
s 1,200
s 2,800
206 MH=HI 80,000 70,000 10,000
& 12,000
= 68,000
01 MHZH| 80,000 70,000 10,000
Odl golls =S2HMEl Xd
80,000,000& 80,000
= 12,000
[Ea 68,000
oAy 8 M2 5,185,209 4,767,208 388,001
= 822,600
= 454,019
Ea 3,878,590
A0 3= Zat 818,213 869,898 Ab1,685
101 @1A4H| 4,733 4,618 115
04 JIZtN2Z2 XS 2+ 4,733 4,618 115
O&J] =023t 238 oUFY
78,8803 x2& *30& 4,733
201 2= 17,880 17,880
01 At2t2ltl 7,880 7,880
Oggt=3ZH| 5,000,000& 5,000
O=gH| 8,000& x3& 120 2,880
03 A= SHI 10,000 10,000 0
O8d 438Jls SRHA 7= 10,000
—&8E A =E 250,000 +82] 2,000
—=2 &)z ESAE Eotal A
2,000,000& *42] 8,000
202 04l 6.600 8,400 21,800
01 =LHAHI 6,600 8,400 1,800
Ol SEXIE =& (2LH)
150,000 x3&* 122 5,400
O%ll S4XY Fa(22)
100,000« 12& 1,200
206 M=l 36,000 36,000
01 MZH| 36,000 36,000
O8d 4=8)ls S7HA 75 36,000
—FQ = 4S8R 29
3,000,000 x3S5*4 & 36,000
301 Eet2 NS 3,000 3,000
11 #AIAHIXIE S 3,000 3,000




A s)I=dH s
g sZNT 2

&2l ooty B33 M EEED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEZE Jlsus FAL 243
8,000 x126H 1,000
O&30=or A& EHotgl 4L B3
8,000%x250H 2,000
402 2I2F X201 & 750,000 800,000 /50,000
01 IR SASE X (RHMITHR) 750,000 800,000 250,000
OAMEJN =24 i
400,000, 000& *50% 200,000
O] DETHHHAIE X1
400,000, 000& #50% 200,000
OO0 S === HHHEX |4
250,000, 000& #50% 125,000
OmmMA= iz oXl T4
50,000, 000& *50% 25,000
OAN&EIRA B4 BE DA X
400,000, 000& *50% 200,000
OFHIOFEHEHAIE K12 60,000 60,000 0
= 24,000
= 10,800
o 25,200
402 212t X+=01 ™ 60,000 60,000 0
= 24,000
& 10,800
= 25,200
02 QIZEHE AL E X (01X THE) 60,000 60,000 0
OX=HIJHE THEHAIE X2
120,000, 000& *50% 60,000
= 24,000
< 10,800
s 25,200
s A= AIE(&0) 450,000 398,000 52,000
= 225,000
Ea 225,000
402 2IZtA=01d 450,000 398,000 52,000
= 225,000
s 225,000
02 BIENEASEZ(0IETHR) 450,000 398,000 52,000
OHXg Ot= &€ 2| 018 &0z 2
= 50,000,000 50,000
= 25,000
T 25,000
OAIE20 =4 Hd sEE LISN 23
Meols 25 80,000,000& 80,000
= 40,000
o 40,000




A sII=dH s
. s8Nk 2
&2l ooty B33 M EEED
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OJNI=E ADEI S HE AlY
320,000,000 320,000
= 160,000
Ea 160,000
SOAIE £X 358,000 420,334 N62,334
== 64,000
o 294,000
402 SI2EXH=201 S 358,000 420,334 A62,334
[ 64,000
T 294,000
02 QI X2 AL EE(OIHTHE) 368,000 420,334 N\62,334
ORUXSOISA MAAIL SIHS
400,000, 000& #50% 200,000
= 40,000
[Ea 160,000
OL)| L2 (EE) XA
10,000, 000 *50% 5,000
== 1,000
[Ea 4,000
oI X3 22,000, 000& *50% 11,000
= 2,200
= 8,800
OAIZ20 AXToiB2H XN
22,000,000 #50% 11,000
S 2,200
s 8,800
OAldoteA HEsEE X3
110,000, 000& *50% 55,000
= 11,000
2 44,000
O, Ofs M2 ST N
152,000, 000& #50% 76,000
== 7,600
o 68,400
AL JIsES 152,000 208,000 /56,000
= 57,000
= 95,000
402 QI>F X201 & 152,000 208,000 256,000
== 57,000
[Ea 95,000
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== 23,723
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O0k= 0t &7 =4I
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< 143,000
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=S ARSI &4 218,800 368,800 150,000
201 er23 | 5,500 5,500 0
01 At2teltl 5,500 5,500 0
Odgt+==H| 5,500,000& 5,500
206 M=l 10,000 10,000 0
01 M=4l 10,000 10,000 0
O2lci =2oi=s 2l 10,000,000& 10,000
301 EtE NS 3,300 3,300
11 AALRHIXIZS 3,300 3,300
O=dE Jlgls AL 243
3,300,000& 3,300
402 QI”F X201 & 200,000 350,000 A150,000
01 QI X2 AL E A (KEHITHR) 200,000 350,000 150,000
Ot dabgh 24 At
400,000, 000& *50% 200,000
SEAS(HA) HAAIL StiE 31,478 96,375 N\64,897
= 12,591
= 5,666
[Ea 13,221
402 2I2FX=01 & 31,478 96,375 N\64,897
= 12,591
S 5,666
= 13,221
02 QI X2 AL EE(0IHTHE) 31,478 96,375 A\64,897
OSEX2(HA) A& s At
62,955,000& *50% 31,478
= 12,591
< 5,666
s 13,221
=S D8 Xd 13,342 25,900 12,558
= 2,668
Ea 10,674
402 2IZtA=01d 13,342 25,900 12,558
=S 2,668
s 10,674
02 RIENEASEZ(0IETHR) 13,342 25,900 A12,558
O&EEU XA 530,000 #50% 265
< 53
[Ea 212
Odt= =8E 2IIF K&
3,300, 0002 *50% 1,650
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Otal IIHEH X2
22,854,000& *50% 11,427
= 2,285
Ea 9,142
=S Jle B2 40,000 80,000 40,000
== 15,000
o 25,000
402 2I2E X201 & 40,000 80,000 /40,000
[ 15,000
T 25,000
02 QI X2 AL EE(OIHTHE) 40,000 80,000 40,000
O0l&J14 S oHA TIoHOIE Jl==tat Al
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[Ea 25,000
U= HollE ol & A 15,000 15,000 0
s 4,500
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13,000,000 13,000
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8,000,000 #4++< 32,000
—2cls & 1 S AN 22+
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Il 88,676
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14 J|EI2 A3 518,000 518,000 0
OHBASAS Mo ZILS N
280,000,000& 280,000
OMBASHE RE X2
40,000,000& 40,000
OHZX+ F3XA 6,000,000& *6ha 36,000
Ozlgtd B A28l X&A
270,000 *129.626ha 35,000
OFEA oZ242 N
800, 000& *1507H 2~ 120,000
OGP 2152 XIJ 50,0002 %140 7,000
307 212+01 A 30,000 20,000 10,000
04 CIZIHAIAIRIE X 30,000 20,000 10,000
Ozlgtd=sst= MEdAL XA
20,0002 *1,500H 30,000
401 Al&HIZ20HY| 5,000 5,000
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402 SI2ER=01 50,000 50,000
01 QIZEXH2 AN 2 2 (REAI &) 50,000 50,000
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OeP Is++== Xd 10,000,000& 10,000
= 3,000
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s 8,160
201 et 3| 10,200 10,200 0
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10,0003 #8650 A+ 12J0 2 10,200
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= 8,160
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=S 33,969
s 79,261
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== 33,969
[Ea 79,261
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= 33,969
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= 6.400
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= 1,600
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< 75,114
[Ea 300,457
307 elztol & 248,640 14,000 234,640
& 49,728
= 198,912
02 2B YA E X 248,640 14,000 234,640
Ozletdsite #SEd3st AR
365,200, 0002 *70% 248,640
= 49,728
o 198,912
402 2I2F X201 & 126,931 70,000 56,931
== 25,386
[Ea 101,545
02 QI TH2AILEE (01X THE) 126,931 70,000 56,931
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